HEKEROBEIEIZOWT

BIAKDOBER e BEIL T 5720, HRE
Do

S5 3 H 2 BN

e H

Pavawd

=510

b b TS M oD A K OV B 3R i 2526 O

LE2E92b0TH D,

RFEIHOBEIZLY

tEdk &

B O E KD
B

56 TISHE D BEM DR A& R DAL H D 72 3 JE I



it = 0 g TR X
R4 it 22
S = (m) (m) & =
. [N FPIRT BF 16 #1594 - 5 Hi5E
RN 8.0 20.5 | 2,952.2 |Jb b T2 DT -1
(2001103) 5 FEI 28 HIE1 73 2 M e
et A o TETEEAR191- 1 MG
@g§$ﬁ§3ﬁ 9.0 33.9 | 1,429.9 |4t L T MO D7 -1
FHIRT R 24 MBI 101 Hi Je
IRy B 24 H1%E190— 4 Hh 4
TiIE 2073034 515 12.2 22.5 84.3 |tk TEMMHOEEfHE D= X-1
I EF24 H1E190- 4 Hh 2 [
R O HIEI219- 1 #14% ; o e A A ot 75
$£2093074%%§ v 4 0 8 2 519. 3 ﬁ&%%ﬁ%%ﬂ:T&\—ﬁ: ) @rﬁ%)ﬁ@%%@ _ o

FHIRFEF O 152 4 Hi5E ]

7=




3







